I can rewrite expressions using the distributive property.

Match each expression with its equivalent expression that shows the
distributive property (ex: 4 x 9 = (4x5) + (4x4)

1 8x9

3] 3x8

5. 8x8

71 6x9

°of 4x7

1 I/ x7/

(8xH) + (8x4)

(6x3) + (6x6)

e T T T T T T

5 vy’

(4x4) + (4x5)

(9x5) + (9x4)

(7x6) + (7x1)

(5x5) + (5x2)

27T x 11

4 4x9

6 B x 15

sl 3x12

0 9x9

2 HBx7

(5x9) + (bx6)

(3x6) + (3x6)

Objective: 3.0A5 - Distributive Property

(4x3) + (4x4)

(8x5) + (8x3)

(3x4) + (3x4)

(7x10) + (7x1)




I can rewrite expressions using the distributive property.

Match each expression with its equivalent expression that shows the
distributive property. Ex: (4x7)+(4x2)=4x(7+2)

11 3x4)+(3x6)
2] 4x3)+(4x4)
3, (8xDH)+(8x3)
4 (7Tx2)+(7xT7)
5 (9x6)+(9xbH)
6, (6x2)+(6x3)
7] (2x6)+(2x4)
8 (5bx7)+(BxDb)
9/ (3x4)+(3x3)
10] (7x7)+(7x3)
11, (4x4)+(4x7)
12 (9x6)+(9x9)

A B [ D E F
Ox(6+5) |4x(4+7) | 7Tx(7+3)|12x(6+4) | 9x(6+9) |5x(7+DH)
8Bx(B+3)|3x(4+3) | 7x(2+7)|3xM@4+6) | 6x(2+3)|4x(3+4)

Objective: 3.0A5 - Distributive Property

o B




I can solve problems using the distributive property.
Simplify each expression and solve. Ex: (4 x 3) + (4 x4) =12 + 16 = 28

1] (2x6)+(2x4) 2] (3x5)+(3x7)=

+ = + =
3| (4x4)+(4x4)= 4] (5x3)+(5x5)=
+ = + =
5] (3x9)+(3x2)= 6 (6x6)+(6x3)=
+ = + =
7] (5x4)+(5x8)= 8| (6x5)+(6x3)=
+ = + =
91 (7x5)+(7x1)= 10/ (9x4)+(9x5)=
+ = + =
1) (6x2)+(6x2)= 12, (2x3)+(2x6)=
+ = + =
A B C D 3 F
24 33 54 36 81 60

[44

Objective: 3.0A5 - Distributive Property




I can use the distributive property to represent arrays.
Match each pair of arrays with the distributive property expression it represents.

2x((2+7)

4 x(5+2)

3x(3+7)

2 x(3+DH)

4 x (5 +3)

3x(7+3)

4x(4+2)

5x(3+5H)

2 x(3+8)

Objective: 3.0A5 - Distributive Property I H ‘




I can use the distributive property to represent arrays.
Match each pair of arrays with the distributive property expression it represents.

1)

(4x5) + (4x2)

(4x3) + (4x4)

Objective: 3.0A5 - Distributive Property W

(2x2) + (2x7)

(4x3) + (4x3)

(2x3) + (2x8)

(3x7) + (3x3)

2]

(4x4) + (4x2)

(5x3) + (bxb)

(4x5) + (4x3)

(5x6) + (5xb)

(3x3) + (3x7)

(2x3) + (2xb)




I can use the distributive property to represent arrays.
Match each pair of arrays with the distributive property expression it represents.

1 I
-
. .
T 1t

II - 12:! - -
D 3 F

A B C

4x(3+4) |4x(4+4) | 2x(B+6) |5x(4+6) | 3x(B+5)|2x(3+4)

5x(3+6) |3x(2+7) | 3x(3+D5)|4x(4+5) |2x(2+6)|5x(4+4)

Objective: 3.0A5 - Distributive Property m




I can use the distributive property to represent arrays.
Match each pair of arrays with the distributive property expression it represents.

A

B C

10|

e

—_

D 3 F

(5x4) + (5x4)

(3x5) + (3x5)

(2x3) + (2x4)

(2x2) + (2x6)

(3x2) + (3x7)

(4x3) + (4x4)

(4x4) + (4x4)

(5x3) + (5x6)

Objective: 3.0A5 - Distributive Property

(4x4) + (4xD)

(2x5) + (2x6)

» P

(5x4) + (5x6)

(3x3) + (3x5)






